ISSN 0304-9892 (Print)

www.vijnanaparishadofindia.org/jnanabha

Jñānābha, Vol. 53(2) (2023), 208-216

(Dedicated to Professor V. P. Saxena on His 80th Birth Anniversary Celebrations)

ON THE DEGREE OF APPROXIMATION OF FUNCTION $f \in W(L_p, \xi(t))$ CLASS BY (C, 2)(e, c) MEANS OF ITS FOURIER SERIES H. L. Rathore

Department of Mathematics, Government College Pendra, Bilaspur, Chhattisgarh, India-495119. Email: hemlalrathore@gmail.com

(Received: May 22, 2023; In format : May 25, 2023; Revised: October 26, 2023; Accepted: October 30, 2023)

DOI: https://doi.org/10.58250/jnanabha.2023.53224

Abstract

We study on degree of approximation of function belonging to weighted $(L_p, \xi(t))$ class by (C, 1)(e, c)mean and weighted $(L_p, \xi(t))$ class by (C, 2)(E, q) has been discussed by Rathore and Shrivastava. Since (e, c) includes (E, q) method, so for obtaining more generalized result we replace (E, q) by (e, c) mean. Which is a regular method of summation for c > 0. In this paper we obtain the degree of approximation of the function belonging to weighted $(L_p, \xi(t))$ class by (C, 2)(e, c) product means of its Fourier series has been proved.

2020 Mathematical Sciences Classification: 42B05, 42B08.

Keywords and Phrases: Degree of approximation, $W(L_p, \xi(t))$ class of function, (C, 2) summability, (e, c) summability, (C, 2)(e, c) product summability, Fourier series, Lebesgue integral.

1 Introduction

The (e, c) summability method was introduced by Hardy and Littlewood [6], which is a regular for c > 0including the method of summability for Borel, (E, q) etc. We study on approximation of f belonging to many classes. Also $W(L_p, (\xi(t)))$ by Cesăro mean, Nörlund mean, has been discussed by several researchers like Alexits [1], Khan [6], Chandra [3], Sahney and Goel [17], Quereshi [12], Shrivastava and Verma [19], Mishra et al.[10] etc. Rathore and Shrivastava [13] extended the result on degree of approximation of a function belonging to $W(L_r, \xi(t))$ class by (C, 1)(e, c) means of Fourier series. Further Rathore and Shrivastava [14] studied about product summability on approximation of a function belonging to $W(L_r, \xi(t))$ class by (C, 2)(E, q) means. In this direction several researchers like Lal and Singh [9], Lal and Kushwaha [8], Nigam [11], Albayrak, Koklu and Bayramov [2], Rathore, Shrivastava and Mishra ([15], [16]) etc. Recently Kushwaha [7] has determined on approximation of function by (C, 2)(E, 1) product summability method of Fourier series, but till now no work done to extend the result on approximation of function $f \epsilon W(L_p, \xi(t))$ class by (C, 2)(e, c) mean has been seen.

2 Definition and Notations

Let f(x) be periodic with period -2π and integrable in the sense of Lebesgue. The Fourier series of f(x) is given by

(2.1)
$$f(x) = \frac{a_0}{2} + \sum_{n=1}^{\infty} \left(a_n \cos nx + b_n \sin nx \right)$$

with n^{th} partial sum $S_n(f; x)$.

A series $\sum_{n=0}^{\infty} u_n$ with the sequence of partial sum $\{S_n\}$ is said to be summable (e, c), (c > 0) to sum S. Let $\{t_n^{(e,c)}\}$ denotes the sequence of (e, c) mean of the sequence $\{S_n\}$. If the (e, c) transform of S_n defined as

(2.2)
$$\lim_{n \to \infty} t_n^{(e,c)} = \lim_{n \to \infty} \sqrt{\frac{c}{\pi n}} \sum_{r=-\infty}^{\infty} \exp\left(-\frac{cr^2}{k}\right) S_{k+r}$$

exists, where $S_{k+r} = 0$, when k + r < 0. We write

(2.3) $\left\| t_n^{(e,c)} - f \right\| = \sup_{-\pi \le x \le \pi} \left| t_n^{(e,c)}(f:x) - f(x) \right|,$

where $t_n^{(e,c)}(f:x)$ is $n^{\text{th}}(e,c)$ means of the Fourier series f at x. Thus if

(2.4)
$$t_n^{(e,c)}(f;x) - f(x) = \frac{1}{\pi} \sqrt{\frac{c}{\pi n}} \int_0^\pi \frac{\Phi_x(t)}{\sin t/2} \left[\sum_{r=-k}^\infty \exp\left(-\frac{cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right) t \right] dt$$

The series $\sum_{n=0}^{\infty} u_n$ with the partial sum S_n is said to be summable (e, c) to the definite number S, (see

Hardy [4]). Let $\{t_n^{(C,2)}\}$ denote the sequence of (C,2) mean of the sequence $\{S_n\}$. If the (C,2) transform of S_n is defined as

(2.5)
$$t_n^{(C,2)}(f:x) = \frac{2}{(n+1)(n+2)} \sum_{k=0}^n (n-k+1)S_k \to S \quad \text{as } n \to \infty$$

then the series $\sum_{n=0}^{\infty} u_n$ is said to be summable to the number S by (C, 2) method. Thus if

(2.6)
$$t_n^{(C,2)(e,c)}(f:x) = \frac{2}{(n+1)(n+2)} \sum_{k=0}^n (n-k+1)t_k^{(e,c)} \to S \text{ as } n \to \infty$$

where $t_n^{(C,2)(e,c)}$ denotes the sequence of (C,2)(e,c) product mean of the sequence S_n , the series $\sum_{n=0}^{\infty} u_n$ is said to be summable to the number S by (C, 2)(e, c) method.

We observe that (C, 2)(e, c) method is regular if c > 0.

A function $f \in W(L_p, \xi(t))$ class, if

(2.7)
$$\left(\int_{0}^{2\pi} \left(\left|\left[f(x+t) - f(x)\right]\sin^{\beta}x\right|^{p}dx\right)\right)^{1/p} = O(\xi(t)), (\beta \ge 0).$$

Given a positive increasing function $\xi(t)$ and an integer $p \ge 1$, we observe that

$$W(L_p,\xi(t)) \xrightarrow{\beta=0} L(\xi(t),p) \xrightarrow{\xi(t)=t^{\alpha}} L(\alpha,p) \xrightarrow{p \to \infty} \text{Lip } \alpha.$$

That is

$$\operatorname{Lip} \alpha \subseteq \operatorname{Lip}(\alpha, p) \subseteq \operatorname{Lip}(\xi(t), p) \subseteq W(L_p, \xi(t)), \text{ for } 0 < \alpha \le 1, p \ge 1.$$

1 /.

Now we define norm by

(2.8)
$$||f||_p = \left(\int_0^{2\pi} |f(x)|^p dx\right)^{1/p}, p \ge 1$$

The degree of approximation $E_n(f)$ be given by

(2.9)
$$E_n(f) = \min \|T_n - f\|_p,$$

where $T_n(x)$ is a trigonometric polynomial of degree n by (see Zygmund [21]).

We shall use following notation:

(2.10)
$$\phi(t) = f(x+t) + f(x-t) - 2f(x)$$

3 Inequalities

We use the following inequalities in our further investigations

(3.1)
$$\sum_{r=k+1}^{\infty} r \exp\left(-\frac{cr^2}{k}\right) \le \frac{k}{2c} \exp(-ck)$$

(3.2)
$$\left|\sum_{r=k+1}^{\infty} \exp\left(-\frac{cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right)t\right| \leq \frac{kt}{2c} \exp(-ck),$$

(3.3)
$$\sum_{r=k+1}^{\infty} \exp\left(-\frac{cr^2}{k}\right) \cos(rt) = O\left\{\frac{\exp(-ck)}{t}\right\},$$

(3.4)
$$1 + 2\sum_{r=1}^{\infty} \exp\left(-\frac{cr^2}{k}\right)\cos(rt) = \sqrt{\frac{\pi k}{c}} \left\{\exp\left(\frac{-kt^2}{4c}\right) + O\left(\exp\left(\frac{-k\pi}{4c}\right)\right)\right\}.$$

The inequality (3.2) follows from (3.1). (3.3) may be obtained by using Able's Lemma and (3.4) may be obtained by classical formula for theta function by Siddiqui [18] and (3.1) is due to Shrivastava & Verma [19].

4 Main Theorem

We prove the following theorem

Theorem 4.1. If $f : R \to R$ is 2π -periodic function, Lebesgue integrable on $[0, 2\pi]$ and belonging to the $W(L_p, \xi(t))$ class then the degree of approximation of f by the (C, 2)(e, c) product summability means of Fourier series satisfies

(4.1)
$$\left\| t_n^{(C,2)(e,c)} - f(x) \right\|_p = O\left[(n+1)^{\beta + \frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right]$$

provided $\xi(t)$ satisfies the following condition :

(4.2)
$$\left\{\frac{\xi(t)}{t}\right\} be a decreasing sequence,$$

(4.3)
$$\left\{ \int_{0}^{1/n+1} \left(\frac{t|\phi(t)|}{\xi(t)} \right)^{p} \sin^{\beta p} t dt \right\}^{1/p} = O\left(\frac{1}{n+1} \right),$$

(4.4)
$$\left\{\int_{\frac{1}{n+1}}^{\pi} \left(\frac{t^{-\delta}\phi(t)}{\xi(t)}\right)^p \sin^{\beta p} t dt\right\}^{1/p} = O\left((n+1)^{\delta}\right),$$

where δ is an arbitrary number such that $q(1-\delta) - 1 > 0$, $\frac{1}{p} + \frac{1}{q} = 1$. conditions (4.3) and (4.4) hold uniformly in x and $t_n^{(C,2)(e,c)}$ is (C, 2) (e, c) mean of the Fourier series (2.1).

5 Lemmas

We shall use the following Lemmas

Lemma 5.1. Let
$$M_n(t) = \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^n (n-k+1) \left[\frac{\sin(k+\frac{1}{2})t}{\sin t/2} \right].$$

Then $|M_n(t)| = O(n+1)$, for $0 < t < \frac{\pi}{(n+1)}$.

Proof. Applying $\sin nt \le n \sin t$, for $0 < t < \frac{\pi}{(n+1)}$, we have

$$(5.1) |M_n(t)| \le \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^n (n-k+1) \left[\frac{(2k+1)\sin t/2}{\sin t/2} \right] \\\le \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^n (n-k+1)(2k+1) \\= \frac{(n+1)}{(n+1)(n+2)\pi} \sum_{k=0}^n (2k+1) - \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^n k(2k+1) \\= \frac{(n+1)^2}{(n+2)\pi} - \frac{1}{(n+1)(n+2)\pi} \left[\sum_{k=0}^n (2k^2+k) \right] \\= \frac{(n+1)^2}{(n+2)\pi} - \frac{1}{(n+1)(n+2)\pi} \cdot \frac{n(n+1)(2n+1)}{3} - \frac{1}{(n+1)(n+2)\pi} \frac{n(n+1)}{2} \\= O(n+1).$$

Lemma 5.2. Let $|M_n(t)| = O\left(\frac{1}{t}\right)$, for $\frac{\pi}{(n+1)} \le t \le \pi$.

Proof. Applying Jordon's Lemma $\sin\left(\frac{t}{2}\right) \ge t/\pi$ and $\sin kt \le 1$ for $\frac{\pi}{(n+1)} \le t \le \pi$

(5.2)
$$|M_n(t)| \le \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^n (n-k+1) \left[\frac{1}{t/\pi}\right] = \frac{(n+1)\pi}{(n+1)(n+2)t\pi} - \frac{\pi}{(n+1)(n+2)t\pi} \sum_{k=0}^n k$$

210

$$= \frac{1}{(n+2)t} - \frac{n(n+1)}{2(n+1)(n+2)t} \\ = O\left(\frac{1}{t}\right).$$

6 Proof of the Main Theorem

Using (Titchmarsh [20]) and Riemann - Lebesgue theorem, the partial sum $S_n(f;x)$ of the series (2.1) is given by

(6.1)
$$S_n(f;x) - f(x) = \frac{1}{2\pi} \int_0^\pi \frac{\phi_x(t)}{\sin\frac{t}{2}} \sin\left(n + \frac{1}{2}\right) t dt.$$

If $t_n^{(e,c)}$ denotes (e,c) transform of $S_n(f;x)$ then

$$\begin{split} t_n^{(e,c)}(f;x) - f(x) &= \frac{1}{2\pi} \sqrt{\frac{c}{\pi n}} \int_0^\pi \frac{\emptyset_x(t)}{\sin t/2} \left[\sum_{r=-k}^\infty \exp\left(-\frac{cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right) t \right] dt \\ &= \frac{1}{2\pi} \sqrt{\frac{c}{\pi n}} \int_0^\pi \frac{\emptyset_x(t)}{\sin t/2} \left[\left\{ 1 + 2\sum_{r=1}^\infty \exp\left(-\frac{cr^2}{k}\right) \cos rt \right\} \sin\left(k+\frac{1}{2}\right) t \right] \\ &\quad + \sum_{r=k+1}^\infty \exp\left(-\frac{cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right) t \right] dt \\ &= \frac{1}{\pi} \sqrt{\frac{c}{\pi n}} \int_0^\pi \frac{\phi_x(t)}{\sin t/2} \left[\left\{ 1 + 2\sum_{r=1}^\infty \exp\left(-\frac{cr^2}{k}\right) \cos rt \right\} \sin\left(k+\frac{1}{2}\right) t \right] dt \\ -2\sum_{r=k+1}^\infty \exp\left(-\frac{cr^2}{k}\right) \cos rt \sin\left(k+\frac{1}{2}\right) t + \sum_{r=1}^\infty \exp\left(-\frac{cr^2}{k}\right) \sin\left(k+r+\frac{1}{2}\right) dt. \end{split}$$

For (C,2)(e,c) transform, $t_n^{(C,2)(e,c)}(f;x)$ of $S_n(f;x)$, we write

$$t_n^{(C,2)(e,c)}(f;x) - f(x) = \frac{2}{2\pi(n+1)(n+2)} \sum_{k=0}^n (n-k+1) \sqrt{\frac{c}{\pi k}} \int_0^\pi \frac{\emptyset_x(t)}{\sin t/2}$$
$$\cdot \left[\begin{cases} 1+2\sum_{r=1}^\infty \exp\left(-\frac{cr^2}{k}\right)\cos rt \\ -2\sum_{r=k+1}^\infty \exp\left(-\frac{cr^2}{k}\right)\cos rt\sin\left(k+\frac{1}{2}\right)t \\ +\sum_{r=k+1}^\infty \exp\left(-\frac{cr^2}{k}\right)\sin\left(k+r+\frac{1}{2}\right)t \end{cases} \right] dt,$$

(6.2)

 $I = I_1 + I_2 + I_3$ (say).

Now,

$$\begin{split} I_{1} &\leq \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^{n} (n-k+1) \sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\emptyset_{x}(t)}{\sin t/2} \\ & \cdot \left[\left\{ 1+2\sum_{r=1}^{\infty} \exp\left(-\frac{cr^{2}}{k}\right) \cos rt \right\} \sin\left(k+\frac{1}{2}\right) t \right] dt \\ &= \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^{n} (n-k+1) \sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\emptyset_{x}(t)}{\sin t/2} \\ & \cdot \sqrt{\frac{\pi k}{c}} \left[\left\{ \exp\left(\frac{-kt^{2}}{4c}\right) + O\left(\exp\left(\frac{-k\pi}{4c}\right)\right) \right\} \sin\left(k+\frac{1}{2}\right) t \right] dt \\ &= \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^{n} (n-k+1) \int_{0}^{\pi} \frac{\emptyset_{x}(t)}{\sin t/2} \sin\left(k+\frac{1}{2}\right) t \exp\left(\frac{-kt^{2}}{4c}\right) dt \end{split}$$

$$+\frac{1}{(n+1)(n+2)\pi}\sum_{k=0}^{n}(n-k+1)\left[\left\{\int_{0}^{\pi}\frac{\emptyset_{x}(t)}{\sin t/2}\sin\left(k+\frac{1}{2}\right)t\cdot O\left(\exp\left(\frac{-k\pi}{4c}\right)\right)\right\}dt\right],\\I_{1}=I_{1.1}+I_{1.2}\quad(\text{say}).$$

(6.3)

Now,

$$I_{1.1} = \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^{n} (n-k+1) \int_{0}^{\pi} \frac{\emptyset_{x}(t)}{\sin t/2} \left[\left\{ \sin\left(k+\frac{1}{2}\right) t \exp\left(\frac{-kt^{2}}{4c}\right) \right\} \right] dt$$
$$= O\left(\exp\left(\frac{-nt^{2}}{4c}\right) \right) \int_{0}^{\pi} \emptyset_{x}(t) M_{n}(t) dt, \quad \text{using Lemma 5.1}$$

Then

$$|I_{1.1}| \le O(1) \left[\int_0^{\pi/n+1} + \int_{\pi/n+1}^{\pi} \right] \emptyset_x(t) M_n(t) dt$$
$$I_{1.1} = I_{1.11} + I_{1.12}$$

(6.4)Now

 $|I_{1.11}| \le \int_0^{\pi/n+1} |\varnothing_x(t)| |M_n(t)| \, dt$

We have

$$|\emptyset_x(x+t) - \emptyset_x(x)| \le |f(v+x+t) - f(v+x)| + |f(v-x-t) - f(v-x)|.$$

Hence by Minkowiski inequality

$$\begin{split} \left[\int_{0}^{2\pi} |\{ | \emptyset_{x}(x+t) - \emptyset_{x}(x) \} \sin^{\beta} x |^{p} dx \right]^{1/p} \\ &\leq \left[\int_{0}^{2\pi} |\{ f(v+x+t) - f(v+x) \} \sin^{\beta} x |^{p} dx \right]^{1/p} \\ &+ \left[\int_{0}^{2\pi} |\{ f(v-x-t) - f(v-x) \} \sin^{\beta} x |^{p} dx \right]^{1/p} \\ &= O(\xi(t)). \end{split}$$

Then $f \in W(L_p, \xi(t)) \Rightarrow \emptyset_x(t) \in W(L_p, \xi(t))$, Applying Hölder's inequality and second mean value theorem for integral

(6.5)
$$|I_{1.11}| \leq \left[\int_0^{\pi/n+1} \left\{ \frac{t \, |\emptyset_x(t)| \sin^\beta t}{\xi(t)} \right\}^p dt \right]^{1/p} \left[\int_0^{\pi/n+1} \left\{ \frac{\xi(t) \, |M_n(t)|}{t \sin^\beta t} \right\}^q dt \right]^{1/q} \\ = O\left(\frac{\pi}{(n+1)} \right) \left[\int_0^{\pi/n+1} \left\{ \frac{\xi(t)(n+1)}{t^{1+\beta}} \right\}^q dt \right]^{1/q} \\ = O\left\{ \xi\left(\frac{\pi}{(n+1)} \right) \right\} \left[\left(t^{-(1+\beta)q+1} \right)^{1/q} \right]_0^{\pi/n+1} \\ = O\left\{ (n+1)^{\beta+\frac{1}{p}} \xi\left(\frac{1}{n+1} \right) \right\}.$$
Now

$$I_{1.12} \le \int_{\pi/n+1}^{\pi} \emptyset_x(t) M_n(t) dt$$

Using Hölder's inequality $|\sin t| < 1$, $|\sin t| \ge \left(\frac{2t}{\pi}\right)$, Lemma 5.2 and second mean value theorem

(6.6)
$$|I_{1.12}| \leq \left[\int_{\pi/n+1}^{\pi} \left\{ \frac{t^{-\delta} |\emptyset_x(t)| \sin^{\beta} t}{\xi(t)} \right\}^p dt \right]^{1/p} \left[\int_{\pi/n+1}^{\pi} \left\{ \frac{\xi(t) |M_n(t)|}{t^{-\delta} \sin \beta} \right\}^q dt \right]^{1/q}$$

212

$$= O\left\{ (n+1)^{\delta} \right\} \left[\int_{\pi/n+1}^{\pi} \left\{ \frac{\xi(t)}{t^{1+\beta-\delta}} \right\}^{q} dt \right]^{1/q}$$

= $O\left\{ (n+1)^{\delta} \right\} \left[\int_{1}^{n+1} \left\{ \frac{\xi(\pi/y)}{\left(\left(^{1/y} \right)^{(1+\beta-\delta)q}} \right\}^{q} \frac{dy}{y^{2}} \right]^{1/q}$ Lput $t = (\pi/y) \right]$
= $O\left\{ (n+1)^{\delta} \right\} \xi \left(\frac{\pi}{n+1} \right) \left[\int_{1}^{n+1} \frac{dy}{y^{-(1+\beta-\delta)q+2}} \right]^{1/q}$
= $O\left\{ (n+1)^{\delta} \right\} \xi \left(\frac{\pi}{n+1} \right) \left[y^{(1+\beta-\delta)-1/q} \right]_{1}^{n+1}$
= $O\left\{ (n+1)^{\beta+\frac{1}{p}} \xi \left(\frac{1}{n+1} \right) \right\}.$

Now,

$$I_{1.2} = \frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^{n} (n-k+1) \left[\left\{ \int_{0}^{\pi} \frac{\emptyset_{x}(t)}{\sin t/2} \sin\left(k+\frac{1}{2}\right) tO\left(\exp\left(\frac{-k\pi}{4c}\right)\right) \right\} dt \right]$$
$$= O\left(\exp\left(\frac{-n\pi}{4c}\right)\right) \int_{0}^{\pi} \emptyset_{x}(t) M_{n}(t) dt \quad \text{(using Lemma 5.1)}.$$

Then,

(6.7)
$$I_{1.2} = \left[\int_0^{\pi/n+1} + \int_{\pi/n+1}^{\pi} \cdot\right] \emptyset_x(t) M_n(t) dt,$$
$$I_{1.2} = I_{1.21} + I_{1.22}.$$

Now,

$$I_{1.21} = \int_0^{\pi/n+1} \emptyset_x(t) M_n(t) dt$$

Using Hölder's inequality and second mean value theorem

(6.8)
$$|I_{1.21}| \leq \left[\int_0^{\pi/n+1} \left\{ \frac{t \, |\emptyset_x(t)| \sin^\beta t}{\xi(t)} \right\}^p dt \right]^{1/p} \left[\int_0^{\pi/n+1} \left\{ \frac{\xi(t) \, |M_n(t)|}{t \sin^\beta t} \right\}^q dt \right]^{1/q} \\ = O\left(\frac{\pi}{n+1}\right) \left[\int_0^{\pi/n+1} \left\{ \frac{\xi(t)(n+1)}{t^{\beta+1}} \right\}^q dt \right]^{1/q} \\ = O\left\{ (n+1)^{\beta+1/p} \xi\left(\frac{1}{n+1}\right) \right\}, \text{ since } \frac{1}{p} + \frac{1}{q} = 1.$$
Now,

$$I_{1.22} = \int_{\pi/n+1}^{\pi} \emptyset_x(t) M_n(t) dt$$

Using Hölder inequality and $|\sin t| < 1, |\sin t| \ge \left(\frac{2t}{\pi}\right)$

(6.9)
$$|I_{1.22}| \leq \left[\int_{\pi/n+1}^{\pi} \left\{ \frac{t^{-\delta} |\emptyset_x(t)| \sin^{\beta} t}{\xi(t)} \right\}^p dt \right]^{1/p} \left[\int_{\pi/n+1}^{\pi} \left\{ \frac{\xi(t) M_n(t)}{t^{-\delta} \sin \beta} \right\}^q dt \right]^{1/q} \\ = O\left\{ (n+1)^{\delta} \right\} \left[\int_{\pi/n+1}^{\pi} \left\{ \frac{\xi(t)}{t^{1+\beta-\delta}} \right\}^q dt \right]^{1/q} \\ = O\left\{ (n+1)^{\delta} \right\} \left[\int_{1}^{n+1} \left\{ \frac{\xi(\pi/y)}{(\pi/y)^{(1+\beta-\delta)q}} \right\}^q \frac{dy}{y^2} \right]^{1/q} \quad \text{put } t = (\pi/y) \\ = O\left\{ (n+1)^{\beta+\frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right\}.$$

Now,

$$I_{2} = -\frac{1}{(n+1)(n+2)\pi} \sum_{k=0}^{n} (n-k+1) \sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\emptyset_{x}(t)}{\sin t/2} \\ \cdot \left[2 \sum_{r=k+1}^{\infty} \exp\left(-\frac{cr^{2}}{k}\right) \cos rt \sin\left(k+\frac{1}{2}\right) t \right] dt \\ I_{2} \leq \frac{-2}{(n+1)(n+2)\pi} \sum_{k=0}^{n} (n-k+1) \sqrt{\frac{c}{\pi k}} \int_{0}^{\pi} \frac{\emptyset_{x}(t)}{\sin t/2} \left[O\left(\frac{\exp(-ck)}{t}\right) \sin\left(k+\frac{1}{2}\right) t \right] dt \\ = O\left(n^{-1/2} \exp(-cn)\right) \int_{0}^{\pi} \emptyset_{x}(t) \frac{M_{n}(t)}{t} dt, \text{ (using inequality (3.3))}$$

Then

(6.10)
$$I_2 = \left[\int_0^{\pi/n+1} + \int_{\pi/n+1}^{\pi} \cdot\right] \emptyset_x(t) \frac{M_n(t)}{t} dt,$$
$$= I_{2.1} + I_{2.2}.$$

Now, using Hölder's inequality

(6.11)
$$I_{2.1} \leq \left[\int_0^{\pi/n+1} \left\{ \frac{t \, |\emptyset_x(t)| \sin^\beta t}{\xi(t)} \right\}^p dt \right]^{1/p} \left[\int_0^{\pi/n+1} \left\{ \frac{\xi(t) \, |M_n(t)|}{t^2 \sin \beta} \right\}^q dt \right]^{1/q} \\ = O\left(\frac{1}{n+1} \right) \left[\int_0^{\pi/n+1} \left\{ \frac{\xi(t)(n+1)}{t^{\beta+2}} \right\}^q dt \right]^{1/q} \\ = O\left\{ (n+1)^{\beta+\frac{1}{p}} \xi\left(\frac{1}{n+1} \right) \right\} \quad \left(\text{ since } \frac{1}{p} + \frac{1}{q} = 1 \right). \\ \text{Now} \\ I_{2.2} = \int_{\pi/n+1}^{\pi} \emptyset_x(t) \frac{M_n(t)}{t} dt.$$

Using Hölder's inequality and similarly

(6.12)
$$I_{2.2} = O\left\{ (n+1)^{\beta + \frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right\} \quad (\text{ from } I_{1.22}).$$

Similarly,

(6.13)
$$I_3 = O\left\{ (n+1)^{\beta + \frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right\}.$$

Now combining (6.2) to (6.13), we set

$$\begin{split} \left| t_n^{(C,2)(e,c)}(f;x) - f(x) \right| &= O\left[(n+1)^{\beta + \frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right], \\ \left\| t_n^{(C,2)(e,c)}(f;x) - f(x) \right\|_p &= \left\{ \int_0^{2\pi} \left\{ (n+1)^{\beta + \frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right\}^p dx \right\}^{1/p} \\ &= 0 \left\{ (n+1)^{\beta + \frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right\} \left[\left\{ \int_0^{2\pi} dx \right\}^{1/p} \right] \\ &= 0 \left\{ (n+1)^{\beta + \frac{1}{p}} \xi\left(\frac{1}{n+1}\right) \right\}. \end{split}$$

This completes the proof of the theorem.

7 Corollaries

Following corollaries can be derived from main theorem:

Corollary 7.1. If $\beta = 0$ and $\xi(t) = t^{\alpha}$ then the degree of approximation of a function $f \in \text{Lip}(\alpha, p)$, $0 < \alpha \leq 1$ is given by

$$\left\| t_n^{(C,2)(e,c)}(f;x) - \mathbf{f}(\mathbf{x}) \right\|_p = \mathcal{O}\left\{ \frac{1}{(n+1)^{\alpha - 1/p}} \right\}$$

Corollary 7.2. If $p \to \infty$ in corollary (7.1), and for $0 < \alpha < 1$.

$$\left| t_n^{(C,2)(e,c)}(f;x) - \mathbf{f}(\mathbf{x}) \right\|_{\infty} = 0 \left\{ \frac{1}{(n+1)^{\alpha}} \right\}.$$

8 Conclusion

The summability method (e, c) includes method of summability like Borel, (E, 1), (E, q), F(a, q) and $[F, d_n]$ then by using the result of main theorem we can derive more generalizing result and also the result of Kushwaha [7] can be derived directly.

Acknowledgement. We are very much grateful to the Editor and Reviewer for their valuable suggestions for improving the paper in its present form.

References

- [1] G. Alexits, Convergence problems of orthogonal series, Pergamon Press, London, 1961.
- [2] I. Albayrak, K. Koklu, and A. Bayramov, On the Degree of Approximation of Function Belonging to the Lipschitz class by (C,2)(E,1) means, Int. Journal of Math. Analysis, 49(4) (2010), 2415 - 2421.
- [3] P. Chandra, On the degree of approximation of functions belonging to Lipschitz class, Nanta Math., 8 (1975), 88-91.
- [4] G. H. Hardy, *Divergent series*, first edition, Oxford University Press, 1949.
- [5] G. H. Hardy, and J. E. Littlewood, Theorems concerning the summability of series by A. Zygmund, *Trigonometric Series*, 2nd Rev. Ed., Cambridge University Press, Cambridge, 1968.
- [6] H. H. Khan, On degree of approximation of function belonging to the class Lip(α, p), Indian J. Pure Appl. Math., 5(2) (1974), 132 - 136.
- [7] J. K. Kushwaha, On approximation of function by (C, 2)(E, 1) product summability method of Fourier series, *Ratio Mathematica*, 38 (2020), 341-348.
- [8] S. Lal, and J. K. Kushwaha, Degree of approximation of Lipschitz function by (C, 1)(E, q) means of its Fourier series, *International Math. Forum*, **43**(4) (2009), 2101-2107.
- [9] S. Lal, and P. N. Singh, On approximation of $\text{Lip}(\xi(t), p)$ function by (C, 1)(E, 1) means of its Fourier series, *Indian J.Pure. Appl. Math.*, **33**(9) (2002), 1443-1449.
- [10] L. N. Mishra, V. N. Mishra, K. Khatri, and Deepmala, On The Trigonometric approximation of signals belonging to generalized weighted Lipschitz class by matrix Operator of conjugate series of its Fourier series, *Applied Mathematics and Computation*, 237 (2014), 252-263.
- [11] H. K. Nigam, Degree of approximation of a function belonging to weighted $(L_r, \xi(t))$ class by (C, 1)(E, q) means, Tamkang Journal of Mathematics, 42(1) (2011), 31 37.
- [12] K. Quereshi, On the degree of approximation of a function belonging to $W(L_p, \xi(t))$ class, Indian J. Pure and Appl. Math., 13(4) (1982), 471 475.
- [13] H. L. Rathore, and U. K. Shrivastava, Degree of approximation of a function belonging to $W(L_P, (\xi(t)))$ class by (C, 1)(e, c) mean of its Fourier series, *International Journal of Advances in Engineering Science* and Technology (IJAEST), **2**(3) (2012), 249-260.
- [14] H. L. Rathore, and U. K. Shrivastava, On the degree of approximation of function belonging to weighted $(L_p, \xi(t))$ class by (C, 2)(E, q) means of Fourier series, International Journal of Pure and Applied Mathematical Sciences, 5(2) (2012), 79-88.
- [15] H. L. Rathore, U. K. Shrivastava, and L. N. Mishra, On approximation of continuous function in the Hölder metric by $(C, 1)[F, d_n]$ means of its Fourier series, $J\tilde{n}anabha$, **51**(2) (2021), 161-167.
- [16] H. L. Rathore, U. K. Shrivastava, and L. N. Mishra, Degree of approximation of continuous function in the Hölder metric by (C, 1)F(a, q) means of its Fourier series. *Ganita*, **72**(2) (2022), 19-30.
- [17] B. N. Sahney and D. S. Goel, On the degree of continuous function, Ranchi University Math. Jour., 4 (1973), 50 - 53.

- [18] J. A. Siddiqui, A criterion for the (e, c) summability of Fourier, Proc. Camb. Phil Soc., 92(1982), 121 - 127.
- [19] U. K. Shrivastava and S. K. Verma, On the degree of approximation of function belonging to the Lipschitz class by (e, c) means, Tamkang Journal of Mathematics, 26(3) (1995), 225-229.
- [20] E. C. Titchmarsh, *The Theory of functions*, Oxford University Press, 1939, 402 403.
 [21] A. Zygmund, Trigonometric Series, 2nd *Rev. Ed.*, Cambridge University Press, Cambridge, 1968.